20 1'WLfZRBERE OLF <! 1T 1—A— 1732 R 1R~

HXHER
2 (E) i 2HH(E) (50
- %mms%%mr 9 (&&(TfiHE11.800M)
W RSEH AN
. OAENURG
|
N
g
PREIEA Rwf7
(2%1##530,000M) (BE{HH55.900M)
¥EHHE Rwf7
(2%1##520,000M) (2%{H158.900M)
THEH

ZIL7100% 1%
(#%(iit§27.000M)

R
(2¥%(dHi511.800M)

K7
(&25(MH158,900M)

R~ 7
(2%1iH185.900M)




20 1'WLfZRBERE OLF <! 1T 1—A— 1732 R 1R~

B HRBE
f2{HR1(5) et H2fHit(5) et
WAF2=7(LHAR) I 71— 277314 —
(##(H189.800M) (##(fi{&19.800M)
BEEERH
#WE—ILRINAY (L1 R) 2}*521‘%3»{»%5;
ORE X |—&S
(##(H{858007) S 300m &3
RS
#FIERET A
LR IR ("7zR185) ~NE—DT1tHBhBEE
(##(H§3.9007) (##(H83.3007)
#'{?:-#E:ﬁgﬁg%;f 7z"'lw BRS21=72=—h—(1Z21cm)
JAES N -
Hybrid ({E7552) EHmR3S00R
1171 )8 7Y
24— 7N WS

A HLEZF27 22k -1l
0-%— WA470(JE5E5m)

BRS2=TR=—T—#H1Z23cm)
(2#(H183.900M)




20 1'WLfZRBERE OLF <! 1T 1—A— 1732 R 1R~

it
2 (&) 2 R (&) [y
£l ToxXAZHITRAY~ RiT¥~ll—H—2R
(&2%1if183,200M)
BBk KEOTE(KX) R~ l—H—2
(BE(fi183.500M) (&%1fi58.000M)
RESEENH
S8R FERTIRTEHR RTalin??
(&%1(H#85.600M) (BE(fi183.000M)
ARBEH
o AILE
LA 72— (41 Z401>F+255cm) TEHA7
(%115 13.000M) (&E1fi#85.000M)
NS
EARiRE 11ty Think BEE -7E— #4147
(&&1fi#53.000M) (#&%1fi#58.000M)
O T : ¢ R
il .




20 1'WLfZRBERE OLF <! 1T 1—A— 1732 R 1R~

SYFRRE
= E) 2 e (E) 2
ESN7I\R RRZAIL intvk
(&E1iH183.000M) (&EfH183.000M)
AR ANISE
FERSIE HLEesR
A& K2 ik intmt v~
(&51ifH185.000M) (&Ef1g3.000M)
EBEIR -fihisesh R
(&25&1ifH185.000Mm)
B3R IE
b b
BEzaet 2tvk
(&¥%(MH1&3.000M) P
W 2
(9
BEIBRIXE

KAK=%

HLER

-tk
(&2%5(MH153,.000M)

Aot 3 S
AT
ool B 3% 48 4

<~
—




